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Chapter wise weightage

Sr.no Chapter name Marks
Indian Regulatory framework 06
Indian contract Act, 1872 32
Sale of goods act,1930 21
Indian Partnership Act,1932 20
Limited liability partnership 06
Companies act, 2013 21

Negotiable instrument Act 14
Total marks 120
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Paper Pattern :

Q.no Chapter name Marks Type
ICA,1872

Companies act,2013
Partnership Act

SOGA
Companies act,2013

LLP Act, 2008
Partnership Act

Companies act,2013
ICA,1872
ICA,1872
Negotiable 

Indian Regulatory

CS = CASE STUDY

0.1 1a) 7 29

a- 1 (b) = 2S

Q- 1 (C) G THEORY
R-2 (a) 7 CS

a.2(b) 7 THEORY

R-2(9) 6 THEORY

0.3(a) 7 CS

R-3 (b) 7 CS

Q-3 221 6 THEORY

(a) 7 CS(a)
7 THEORY

a-n (C) 6 THEORY



Q.no Chapter name Marks Type
SOGA 1930

Indian partnership
ICA 1872

Negotiable Act
ICA 1872

SOGA 1930

R .5 (a) 7 CS

0 . 5 (b) 7 T
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CHP1-> IRF -> 0 .(1) -> 6 MARKS T

CHP2 -> ICA1872 + 0 .1(a) = 7 L

3(() = 6 T 32 MARKS
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CHPU - IPA -> Q. 1213
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,
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CHP 5 - ILP -> 0- 2 (1) + THEORY = 6 MARKS

CHP 6 + I + R -1 (b)
,
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CHP7 -> Negotiable -> 0 .4 (b) ( -+(a) = I4 MARA
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